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) - Ane is a lype of an emror
MATHEMATICAL FOUNDATION of COMPUTER Which of the following 1s ot @ lype ©
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SCIENCE (a) Newton crror
(GR-11T) (b) Truncation crror
Time Allowed : Three fiours {c) False position crror
Maximun: Marks : 40 -% Z (d) Bisection error
e : @l i @vst & v FrArgan #1 st @ fae 3 2
_ : : () = § 8 9 G Exect Valuz 78 §—
avel & @ fear i @1 & B &
[ wru f S 5 -
Note : Attempt questions of all three sections as directed. f’ _§ Which onc is the Exact Value :
[x) [}
Distribution of marks is given with sections. 5 2 (a) 2-141 " http://www.a2zsubjects.com
g E 2 (). 11
(c) 9
Section-‘A’
(d) 2
(aegfE uvT) 5x1=5
¢
(Objective Type Questions) () (AuB) =
Frr ; @ aia vl & IO QT FEAF F9 1 3 F @ A“xp"
& b 4 B
Note : Attempt all the five questions. Each guestion
carries | mark. CR-5605
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) A NB

d A“uB

afs A={r:-5<x<6x T = g
T A T I covvr

(a) ¥

(b) ¥ &

(c) TR &

(d) % e

if A={x:-5<x<6.x isan integer } . ther 8.

eeevmeens D1 element of 4.
(a) is an .
(b} is not an
(c) is equal fo
(d) None

fr1 o A 9% & wER w1 W T

Which the following is a type of Graph :
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(a) Isomorphic

(b) Spanning
(c) Binary
| (d) Shortest path

|ve-'g’

Section-‘B’

(w1 3wl 9v) o 5x2=10
{Shuﬁ Answer Type Questions)

Nz ;. Gt e gl & IW A IAF R B qE
yg7 F A &1 vl 97 2 3dE F1 &

Note: Attempt all the five questions. One question
from each unit is compulsory. Each question

carries 2 marks.

FTS-1

Unit-1
2. v Ffe ad AR TRt w wRfim i@

Define truncation error and error approximation.

CR-5605
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Far
Or

uﬁmzﬁmaﬁﬁﬂmt'mﬁmﬁ:mm
s <red #t e A +1% # AR T

Find the percentage error in the arca of a rectangle when
]
an error of +1% is made in measuring its length and °

breadth.

gaTg-11

Unit-11
3, <7t FEret % fad w3 )
Give the formula for Gauss quardature.

3D
Or

e EREE FRAAT H g QT

Give the formula for Newton forward interpolation.

gHE-I1
Unit-111

4. agAd frewm w1 Wadda | fafad

Give propertics of binary relation.
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gar
Or

What are infinite sets and order sets.

G-IV

Unit-IV
5. IMR (Grammer) % A9 SAWE (Languages) ¥ TFR
Afsdn
Give types of Grammer and Languages.

gy
Or

W_a@ﬂaaﬁmﬁi

Explain finite automata. http://www.a2zsubjects.com

EERY

Unit-V

6. ﬂ?iﬂm_(lnulligraphs) Q2T (weighted graphs)
=1 ftwfig Fifsd

Define multigraphs and weighted graphs.
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oL DU ¢ ¢ (- | §
Or

gl o (Binary search trees) 71 af & (Spanning
trees) H TRwifd s

Define Binary search trees and Spanning trees.

wug-'q’

Section-*C’

(& swfig w) 5x5225
(Long Answer I}pc Questions)

e Tt e v & 3w g wiE s @ @
¥ &N Sfad B 1 52F T 5 oFF FT &)

Note:: Attempt all five questions. One question Jrom

each unit is compulsory. Each guestion carries
5 marks.

TG
. Uﬂit-[
7. E faf A T 20 = cosy +3 F @ A R
& a1 W o 3 S

CR-5605 PTO
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Find the root of 2x =cosx+3 00“““‘ to three decimal
places by iteration method.

AYEr

Or

R H e WA ¥ FHle 96 AF § 3.1428571 AW [ FH
TE U ? 3.1415926 W YsEIGE (Absolute) T frafes
(Relative) Ffe 7q wifsd
An approximz_ste value of g is 3.1428571 and its true

value is 3.1415926. Find the absolute and relative error.

FaETe-11

Unit-1I
a1 fedt i fafy &1 s9dm =% g 500 W
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safFE—
sin45°=0.7071, sin 50° = 0.7660
5in 55° = 0.8192, sin 60° = 0.8660
Given that

sin45° = 0.7071, sin 50° = 0.7660

5in 55° =(.8192, sin 60° = 0.8660

CR
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Find sin 52° by using any method of interpolation.

Near
Or

I Hifea—

¢ dx
J famaw 3 fafy A

o j4x?
Evaluate :

S si
0 14 12 Simpsons 172 rule,

FRTE-113

Unit-Ti1
9. wffge sk fows # il S5 70 s Bt
o aft R o A sndfin (e ow= v w 3
T AC X, 76 TR RN(AxA) 7% oiime st
fewm 4 w &)
Define partial order relation and prove that R is a partial
ordering relation on a set X and 4 X. then show that

RH(AXA) is a partial ordering relation of 4.
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et
Or

Fdae aul FTEReHd FAEEIE A T A2 (lattice)
A ot FARRT

Define countable and ancountable infinite scls and tattlice.

ECAER A

Unit-1V
10, afy TR G 38 ¥R TRfE ¥
v={015}.7={0.1]
P={S =051, 8§ —>1}
sl § @i famw B, L(6) s wfad

Consider the grammer (¢ defined by

v={0,1.8},7={0.1)
P={S—-0S1, 5>}

where S is the start symbol, find L{U].
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[ 11) -
YT
or i) VT A EiE
fag wifod— (i) W2E T
Prove that : Define -
(1) Minmmam spanmmgl irees
“*+h]F=cf(hcfy (i) Fulerian paths and crvmis

(m) Shortest paths
ECIERY
Unit-¥
11, aftsnfam sifaa—
() @fAm g
(i) Bfaeifan uis aon uffe

Define : http://www.a2zsubjects.com
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(1) Spanning trees
(1) Hamiltonian path and circuits
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